
 

ĐÁP ÁN  HK2-TOÁN 11 (23-24) 

TRẮC NGHIỆM KHÁCH QUAN: 

 

 

 

 

 

 

 

 

 

 

 

CÂU MÃ ĐỀ 

111 112 113 114 

1 B C D D 

2 A A B C 

3 D D B C 

4 B A A B 

5 B D C C 

6 B D B C 

7 A C D D 

8 D A C D 

9 D C B C 

10 D A B C 

11 D D A B 

12 D C D D` 

 

13 D B B C 

14 D B B B 

15 B B A C 

16 D D A A 

CÂU 1     

a Đ Đ Đ S 

b S S Đ S 

c Đ S S Đ 

d S Đ S Đ 

     

CÂU 2                

a Đ S Đ S 

b S S S Đ 

c Đ Đ S Đ 

d S Đ Đ S 



TỰ LUẬN: 
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CÂU 2:   
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CÂU 3:   
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CÂU 4:  
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